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September 12, 2018

Sep 12­9:53 AM

DO NOW

Sep 8­9:31 AM

HW Answers

1.  70

2.  30

3.     XYZ,     ZYX,    Y

4.  x = 18

5.  38

6.  y = 23  
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Sep 5­12:56 PM
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Sep 5­12:59 PM



1.3 Angle Pairs Foldable.notebook

5

September 12, 2018

Sep 8­9:37 AM

In the accompanying diagram, AB and CD intersect at E . If 
m∠AEC = 4x − 40 and m∠BED = x + 50 , find the number of 
degrees in ∠AEC.

Sep 8­9:45 AM

In the accompanying figure, two lines intersect, m∠3 = 6t + 30 , 
and m∠2 = 8t − 60. Find the number of degrees in m∠4.
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